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1. A computer consists of

(A) a central processing unit (B) amemory
(C) input and output units (D) All of these
HPEL TEE T BNl 8

(A) Trge =T g (B) wHrl

(C) 39 3R 313 e (D) s E

‘Abacus’ could w@m Y
(A) Addition

( : Mu1t1phcat1<m s and (B)

(A) ?ﬁn ¥ 4 .
(C) T B) g

The first fully electrdmc computer i

forea & wom qoi
(A) ENIAC

Which of the follomg 1s the small
(A) Desktop (B) Workstatio
1 T QT8 B R AT R 2 i}
(A) Swherd (B) =hwyd _ (C) <we (D) Hreg®

‘PARAM’ is an example of
(A) PC_ | (B RDA |1 1 (L) kaplops /(D) Super Computer
(A) dH. (B) PDA (C) w9eH™ (D) HH HRER

The CPU is an example of

(A) peripheral (B) aprogram (C) hardware (D) an output unit
CPU 3491 3¢80T1 2

(A) Ufthie (B) ™ (C) BTSN (D) 3A3<Ye IfHe

The device which is allowed to initiate data transfers on the bus at anytime is called
(A) bus master (B) bus arbitrator(C) processor (D) controller
Teamea it fopelt ot T 5@ T ST S1=ToT o TR shi (G AT §, el

(A) SEARX (B) s® M (C) THE (D) el

(D) MARK-I

(C) Laptop (D) Notebook
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Who invented the microprocessor ?
(A) Joseph Jacquard
(C) Herman H. Goldstein

(B) Marcian E. Hoff
(D) None of these

(D)
(D)

HTSShITIIER 3T TSR fehe fohar 2

(A) TG ST (B) WIfH3H 3. 8%

(C) & . Mes&H (D) T4 T g & |

Speed of processor is measured in

A) bit (B) byte (C) hertz

Hefcahads |

(A) feed (B) «mEed (C) &

The number of function keys in a keyboard is

1 91S 1 e B! i G Bt 2

(A) 12 (B) 13 (C) 14

Which of the following is a point-and-draw device ?

(D)

(A) Mouse (B) Keyboard (C) CD-ROM (D)
= 4 9 o @ dige-wwe-g ?

(A) HA=H (B) HiErE (C) CDm (D)
Joystick allows the movements with

(A) 90°angle (B) 180°angle (C) 360°angle (D)
SrIfeeeh qau=e 6

(A) 90°®MT  (B) 180°®IMT  (C) 360°h (D)
For sound recording, what is necessary ?

(A) Microphone (B) Speaker (C) Talker (D)
gt frpifem ERICICROC R )

(A) TEhHHE  (B) T (C) < (D)
CRTis a

(A) hollow tube (B) wvacuum tube (C) long tube (D)
CRT 2 T%

(A) @Eeftaeft (B) fa@aefl  (C) et 7elt (D)
A plotter 1s

(A) 1input device (B) output device
(C) both (A) and (B) (D) storage device
T B

(A) Y fearsH (B) 3MM3eqe feamsq
(C) (A) 3R (B) gl (D) N feared
Which of the following is the fastest port for data transfer ?
(A) USB (B) Serial (C) Parallel (D)
= 4 O = |1 ST 2w T dieam a2 ?

(A) USB (B) 2uft (C) ¥HI (D)

tera byte
CAUC BT

15

Scanner

ThT

45° angle
45° =i
Mouse

H13H

round tube

ZIEE|

Fire wire

RARLCIRL
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A half byte is known as

(A) data (B) bit (C) halfbyte (D) nibble
&% S5 ol SEH STHT A1 8

(A) ST (B) fere (C) Bherge (D) fiswe
RAM is also called

(A) Volatile memory (B) Non-Volatile memory
(C) Virtual memory (D) Both (A) and (B)

W (RAM) %! I8 ot gd &

(A) RS AH (B) AH-dciersel HAN

(C) wearet wd (D) (A) 3R (B) qHi

Which of the following is the programmed semi-conductor memory ?
(A) SRAM (B) . DRAM (C) EPROM (D) All of these

=Rk kCaE ke sham:c; Heft—hgdet IHH 2 2
(A) SRAM (B) DRAM (C) EPROM (D) ¥ ot

What does a decimal number represent ?
(A) Quality (B) Quantity (C) Position (D) Octal system
SITETe 37k T FETUd ShidT & 2

(A) ToTERT (B) =T (C) feufa (D) 3fiaee fen
Software that is actively utilized by end-users is called

(A) operating system (B) system software

(C) actionware (D) application software

IR G H3hT €9 § T T haatTdl %’

(A) 3ATRfET femen (B) Toren digedy

(C) UHRHAR (D) UAThIH HTRER

Which of the following is not a type of application software ?

(A) Database (B) Browser

(C) Word processor (D) Device Driver

= 1 9 19 91 Tefiehy™ Gigeds’ &1 YR T8i § ?
(A) SeEH (B) ISR (C) FsdmE (D) feamsd gR:

The first computers were programmed using

(A) source code (B) object code
(©) assemblyl uage (D) machine language
TUH PRI $Hh N ShHTERRIE (TTRe) o

(A) 9@ ®iEe  (B) Al ®ig (C) UHmEcl ofEst (D) A et
‘FORTRAN’ was introduced by

(A) Intel laboratories (B) Bell laboratories
(C) IBM (D) Texas instrument
GRS’ 3 g Yafdd fepar T o

(A) Fodd Saied (B) s &Rl

(C) IBM (D) HE SEH=
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The operating system manage(s)
(A) processor (B) memory (C) files (D) All of these
e freew ganfera ot 8

(A) WIEEX (B) uurd (C) IS (D) Ig &

The first Unix operating system was written in

(A) Pascal (B) C-language

(C) Java (D) Machine language

S| e JAraifen faeen forat mm o

(A) UR=Hd (B) C-oad (C) <& (D) T3 et

Which was the first Microsoft operating system ?

(A) MS-DOS (B) Monitor (C) Windows 2.0(D) Keyboard
TUH HISshIETRE AT feen s &1 o1 2

(A) MS-DOS (B) Hifex (C) foms=1 200 4 (D)) Fi-a1

Whiqh of the following is not an internal DOS.eommand ?
=1 1 @ 9 |1 31T DOS HHVE & 8 2

(A) DEL (B) PROMPT #A€) €LS (D) CHKDSK
Windows operating system was“devclopad by

(A) Apple (B) Microseft, A(C) Wipro (D) IBM
foves SrTRfen ferey fonems gri ferepram foham T o 2

(A) THA (By wigshrEe  (C) fam (D) IBM
Which mena/is seélectto print in MS-Windows ?

(A)\File (B) Tools (C) Special (D) Edit
MS-Windaws § Trve 3 7T @i a1 o Hietere id & ?

(A) HIEE (B) oH (C) @fir (D) tfee

Which of the following menu types in MS-Windows is also called a drop-
down menu ?
(A) Flyout (B) Cascading (C) Pop-up (D) Pull-down

TH TE-fqueis § f= 4 § S 91 1 5 gU-834 H Hft shaardi g 2
(A) AT 33 (B) hEehien (C) d9ig-319 (D) qeT-S1&A

Microsoft word is an example of

(A) an operating system (B) application software
(C) an output device (D) an input device
HISShIHTHE I FHHT IaTall 2

(A) AT foen (B) UATehy HFe

(C) 3T3eYe feamsH (D) 3qe fearzq
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In MS-Word, the document can be zoom maximum upto

T T - T SR 1 Sfiehan T S o ST Eha1 2 |

(A) 200% (B) 300% (C) 400% (D) 500%

On which toolbar of MS-Word, you can find format painter tool ?

(A) Standard toolbar (B) Formatting toolbar

(C) Drawing toolbar (D) Picture toolbar

TH.TH. IS o [hH ¢S 9L 37T BiHe Yrel T UTd & 2

(A) TS TR (B) WIHIET ZTa

(C) & ZaR (D) oo Zete

MS-Word offers certain ways in which user can move around in a document
(A) by scrolling (B) by moving to a specific page

(C) directly to first and last pages (D) All of these
@.m.-a;‘@ﬁﬁaﬁaﬁ%mm%ﬁﬁmﬁmgﬁz@?ﬁsmﬁm
ST Hehdl

(A) SHIfel g (B) fafre ¥ w S

(C) Hied uget 3TR 31f~m U9 W (D) I |

‘Status bar’ is available in software windows

(A) justabove task bar (B) just below menu bar
(C) justabove scroll bar (D) All of these

TrreaR fqueie 4 e 9 o g 8

(A) TEH R o Sh W (B) H9R % 3t =
(C) Thid SR & 3leh W (D) 9o

In MS-Word, to indent the first paragraph of your report, you should use this key.
(A) Spacebar (B) Returnkey (C) Tab key (D) Shift key

T TH-aE § ST FIE % Teet R i 378 H % T, 39! I8 Hoit ()
SRIRT ST AT

(A) TR (B) feAd (C) e H (D) frge <t

What is the maximum font size you can apply for any character in
MS-Word ?

(A) 163 (B) 1638 (C) 16380 (D) None of these
U UH-98 1 Tt hlaret o foTu 2419 o 3ATYehad Hive T18S 9 H o Tehd & ?
(A) 163 (B) 1638 (C) 16380 (D) o & s T

What is the default number of lines in MS-Word to drop for drop cap ?
U TH-9E § g9 Y (U1 ) o forw g1 (ure) <ht et <t fewhree w@n = g 2
(A) 2 B) 3 ©) 4 (D) 5
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Files created with Lotus 1 — 2 — 3 have an extension

ed 1 — 2 — 3 gru fAffa w5ew =1 vagee 8
(A) xls (B) .doc (C) .123 (D) .wki

A worksheet in MS Excel can be opened by clicking on the

(A) open button (B) startbutton (C) close button (D) None of these
UH UH UFHe H gehsiie ohl A9 oRaT ST Hehdl & 38 W faeieh hich

(A) AT (B) WA  (C) N & (D) 3TH § I 781

You can print in excel

(A) comments (B) a worksheet

(C) arange of cells by range name (D) All of these

AT TR | {2 o Tehd &

(A) FHZE (B) kit

(C) &M grr Al bl & (D) Ig Tt

By which menu in excel, you can ungroup the data ?

(A) Insert (B) View (C) Edit (D) Data
U H fohd 5 g AT ST 3afiehd L Fehd & ?

(A) T8 (B) = (C) Tz (D) =

Which Excel feature enables predefined layouts to selected tables in the
worksheet ?

(A) Autoformat (B) Header and Footers

(©) S elling and Grammar (D) Undo and Redo
ﬁmmﬁmw%m@mﬁaémmm% ?

(A) e (B) &S WS g

(C) Tfet wug U (D) 3IFgWwe g

How many types of cell references are available in MS-Excel ?
TH TH-UFHA | fehd TehT & Tt Thi-H ITTeH & ?
(A) 2 (B) 3 € 4 (D) 8

The operation of combining two cells into a single cell in Excel is referred to as
(A) join cells (B) merge cells (C) merge table (D) join table

e 1 €1 Sl bl Uehel T 1 SIS o HTRIM haaATdl &
(A) SEA8A  (B) HA oA (C) Sl s (D) e oA

In Excel, charts are created using which option ?

(A) Function Wizard (B) Chart Wizard
(C) AutoSum (D) Validation
el § forg 31T T T hieh =16 aF/ fhu Sd & 2

(A) SR o= (B) =T fa=e

(C) 3terEm (D) dfeTsyH
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Slide is a feature of
TATSS 3Hh Bl 2
(A) MS-Word (B) MS-Excel (C) MS-Access (D) MS-PowerPoint

Right clicking something in PowerPoint

(A) select the object

(B) delete the object

(C) open a shortcut menu listing for the object
(D) None of these

Tladige | g 91 Tse foeteh o

(A) ATedee =l Hictee Hid & |

(B) 3issiee i feefic i & |

(C) 3ATsare & GlaeH & foTu SMéshe B Gierd # |
(D) 78 g TE

Which of the following button for align is absent in the format toolbar in
PowerPoint ?
(A) Leftalign (B) Rightalign (C) Center (D) None of these

UTaTE=e § HIHe THaR § 3TeiTsH (F@v) & fofe =1 d & &1 91 5ieq srqufed
BT g ?
(A) TR FAAE (B) TR AAEA (C) =X (D) 3TH ¥ HFE &

The best way to insert a new slide in a presentation is to use the

(A) Normal view (B) Special view

(C) Slide show view (D) Slide sorter view
TSITH H 18 TATSS 59 i o 70 IAqH alienl 39T T 8
(A) e =g (B) Hfira =y

(C) wEs A= (D) TATSE AL

Special effects used to introduce slides in a presentation in PowerPoint are
called

(A) effects (B) custom animations

(C) transmons (D) present animations

TeRdTge H ToieSH H TTsgH Yafdd i o folt T TR $haed HadTd o
(A) THeH (B) h&eH TMHHIH

(C) gifwsr4 (D) SIS TR

Which of the following is not a type of database ?

(A) Hierarchical (B) Relational (C) Network (D) Transition
91 © 1 I |1 ST T TR TE @ 2 '

(A) €O (B) @E¥w&  (C) e (D) gt
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Which of the following is the disadvantages of DBMS ?

(A) Integrity (B) Complexity
7 1 & %1 °1 DBMS 1 3114 3 ?
(A) FOidT (B) Sifeear

(C) Data sharing (D) Security

(C) srTeEiT (D) g

Which of the following items is related to DBMS ?

(A) Firmware (B) Hardware (C) Software (D) All of these
=1 4 & =M 91 3715 DBMS § Tf2rd & 2
(A) FHRR (B) BTEAW (C) |iwe= (D) Jmad

In DBMS, data is stored in which manner ?

(A) Repeated manner
(C) Centralized manner

DBMS § grer forg fifa § R a2 2
(A) gREfdfa (B) wdd dfd

(B) Continuous manner
(D) None of these

(C) H=ipadfa (D) 70 T HE T

Data can be import into Access database from

(A) Word files

(C) PowerPoint files

U STl H $1 31 TR o1 Heha
(A) 98 ®EAH

(C) dTadIg~ ®T5ed &

In MS-Access, this display the results of a calcu la

(A) Lookup field
(C) Source field

(B). Excel flles
%03) ,,‘,__ files

O
(D) HTML %15 ¥

ulation in a query
(B) Calculated field
(D) Child field

TH UF — UeHd 4 I3 Topell o | orr < gftony st velid s B

(A) TH-37 {heg
(C) @ fhes

(B) hetpeies fheg
(D) Tuce fhee

In a MS-Access database, which component is not present ?

(A) Tables (B) Forms (C) Queries (D) Formula Bars
TH UH — THE 2194 H I 91 9 IUMEId g1 g1 8 ?
(A) & (B) & (C) = (D) HHeAT IR

Which of the following data type is used to store picture in MS-Access ?

(A) Picture
(C) Memo

(B) OLE object
(D) Picture cannot be stored

U UH — ToE I TR W & o Q4 3 © o9 91 221 2159 I Tehar Sirar

27
(A) foeer
(C) Tl

(B) OLE 3aaiee
(D) foerer vt R &1 fomam ST debat |
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Which property is supported by all data types available in MS-Access ?
(A) Required (B) Indexed (C) Caption (D) Input mask
TH UH-UY § 3qcted Ot 2e1 2rsy g fond forsiwar o1 gwel foman st @ 2
(A) TemE (B) s=adE (C) M (D) 39 AR

In how many views, you can create a table in MS-Access ?
T TH-THRHE § 319 fohda = & 2oret o1 fmfor o6t Tehd § 2
(A) 2 (B) 3 ©) 4 (D) 5

The linking of computers with a communication system is called
(A) Networking (B) Pairing (C) Interfacing (D) Assembling
HIRE ! TR JUTEH! | ST haalTdl &

(A) et (B) UG (C) TeThiET (D) UEHETR

Transmission of computerized data from one location to another is called
(A) Data Transfer (B) Data Flow
(C) Data Management (D) Data Communication

FHPIhA ST 1 Ueh AT H GER I H=L0] Shgalrdl &
(A) SUTER (B) ST (C) SAHSH= (D) 3 HRIhIH

The ground station in VSAT communication is called

(A) Repeater (B) Hub (C) HTTP (D) Multiplexer
VSAT H9R | U308 RIH HaaTdl &
(A) Tfiex (B) & (C) HTTP (D) Hedrdal

The loss 1n signal power as light travels down the fibre is called

(A) Propagation (B) Attenuation (C) Scattering (D) Absorption
ST Bl TehTeT SIgeR H = <hi TR ST 7 fouet gtk § g1 Shaerd &

(A) &R (B) &fivH (C) wehIvH (D) TerRIoT

Bluetooth comes under which area network ?

oY fope Tt Jeerh % 3refiv 3 8 2

(A) LAN (B) MAN (C) WAN (D) PAN
VPN refers to

(A) Virtual Private Network (B) Virtual Public Network
(C) Vice Public Network (D) None of these

VPN ¥ ¥<5Hd g

(A) TEIA UTgAE Hedeh (B) TH3Ta Ufecteh Hedsh

(C) dTgH ufestsh Jedeh (D) 3 9 g &l
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Multiple repeaters in communication satellites transmission are called
(A) Detector  (B) Modulator  (C) Transponders(D) Stations
TER 3TUE 0T § Heduel FdTet shadlTd @

(A) Tz (B) HISIEIR (C) TEIed (D) =3I

Repeaters operate in which layer of OSI model ?

(A) Application layer (B) Presentation layer

(C) Physical layer (D) Transport layer

frdiex OSI wied i fohdl Tl H T=TfTd 81d & ?

(A) VAT TR (B) TSI~ TR

(C) TRIhet el (D) ZEUR TR

Moving from one website to another is called

(A) applying (B) moving (C) jumping (D) surfing
Teh dSETSC 8 gEdl H ST hgelrd & .

(A) TR (B) Hfam (C) e (D) HfHm
A server computer to access the internet is provided by a/an

(A) usenet (B) CERN (C) gopher (D) ISP
T PR H g2t doh AP % 2 YeH TR SITar & |

(A) IEHC (B) CERN (C) T (D) ISP
The website for a company is hosted on a

(A) Web client (B) Web infrastructure

(C) Web page (D) Web server

foreft Pt <ht SEeTSe 39 T BT Bt B

(A) 99 FATE< (B)

(C) U (D) a9 FH

The standard protocol of the internet 1s

(A) TCP/IP (B) Java (C) HTML (D) Flash
LI 1 TUSE TIehid &

(A) TCP/IP  (B) S (C) HTML (D) A
Hotmail is developed by

(A) Sabeer Bhatia (B) Sameer Singh

(C) Sameer Krishna (D) Sameer Mishra

gienet fepmeh gru faspfaa fepam mam 7
(A) TERuIfer (B) OHR &@ (C) wfRFwm (D) TR fuen

HTML is basically used to design

(A) web page (B) website

(C) graphics (D) tables and frames
1 f&irea o & foTu g7 €9 8§ HTML 1 W& fepet STTan @ 2

(A) 99U (B) ded@TE (C) TTihad (D) 29 3T IFH
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Malicious software 1s known as

(A) badware (B) malware
(C) maliciousware (D) None of these
AfTfrera Afreaaw sl 398 IH1 ST 8

(A) SR (B) TR (C) BffEE 9w (D) 39 o ig &

Which mechanism is used by worm process ?
(A) Trapdoor (B) Fake process (C) Spawn process (D) VAX process
T ITE I TR ATFehT 1 SRIAT fekarm ST 8 2

(A) dUSR (B) ¥HIEE (C) WHIEE (D) VAX TEHE
Logic bomb is a

(A) Pieceof code (B) malware (C) textfile (D) Both(A)and (B)
SUSEREES

(A) HEH TGS (B) HIARK (C) TR ®HEA (D) (A)3R (B)HI

Cyber crimes include

(A) illegal access (B) illegal interception
(C) system interference (D) All of these
TS sh1EH T MMM 8

(A) raferss 3rfiEm (B) 3raiftres tatieq
(C) foren sethi (D) ug aefi
Firewalls are used to protect against

(A) wunauthorized access (B) wvirus attacks
(C) data driven attacks (D) fire attacks
formreh Taeg T o fofu wreraet =t & fopan ST 8 7

(A) 3TSITeeRa ™ (B) 915 31

(C) 32T g 31¢h (D) HRR 31H

Encryption / decryption provides a network with

(A) privacy (B) authenticity (C) integrity (D) non-repudiation
hie /ferhle 38k |1Y Yedeh YSH Hidl 8

(A) MOFEEr (B) YHIPWRRAT  (C) HEUidT (D) 3T@vEA

Which of the following devices selects one of several inputs and transmits it
to a single output ?

(A) Encoder (B) Decoder (C) Multiplexer (D) De-multiplexer
11 5 9 ot a1 fearsd 31 3792 H | Ueh 31 99 hid] & 3TR 36 Ueh Uehdl 3T3CYCL
1 FATI LT & 2

(A) TSI (B) feshiet (C) "iwid (D) feuediwtaer
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Compiler can check

(A) logical error (B) syntax error
(C) Both (A) and (B) (D) content error
FHITER AT L ehdl &

(A) ffTRa qfe (B) fa=eed

(C) (A) 3 (B)gHT (D) H=

During software development, which factor is most crucial ?

(A) People (B) Product (C) Process (D) All of these

HiredaR faeh™ o S i H1 shieh Gl HuliHs & ?
(A) ST (B) 3@ (C) afsham (D) Ig a9t

Which one of the following is the last phase of software development ?

(A) Design (B) Testing (C) Coding (D) Maintenance

1 9 9 =9 91 grgear fae™ 1 sifcm = g 2
(A) 3fped  (B) wheaor (C) wTea (D) 3TR&

Black box testing sometimes called

(A) data flow testing (B) loop testing

(C) behavioural testing (D) graph based testing

sieh e ST 1 hefi—heft whed &

(A) s FAI-fen (B) 3 <feen .

(C) forgfermer efem (D) T 3T fEd

The basic unit of object-oriented programming is a

(A) method (B) class (C) overloading (D) object
FTesae SR (ALAE) T hl HA TS 2 ]
(A) wgfd (B) = (C) fgwmor (D) 3ifeaide
Which of the following data structure is linear data structure ?

(A) Graph (B) Directory (C) Tree (D) Array
=1 o g i 1 g1 e, e e Wt B 2

(A) T (B) SR ©) & (D) 3R
Priority queue can be

(A) ascending (B) descending

(C) Both (A) and (B) (D) odd serial

e dfeRT &1 Hehl &

(A) IR , (B) 3TaUE!

(C) (A) 3R (B)eHi (D) fom s

Sorting data means to arrange it in order

(A) alphabetlcal (B) numerical

(®) sequentla (D) Both (A) and (B)

g1 Al 2?[ 3H 39 30 § SFfed Sl

(A) anﬁ-qm (B) TS

(C) JTIShitreh (D) (A) 3R (B) A
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Which was the world’s first mini-computer ?

forgar 1 wem Tt shregex &bl @ o 2

(A) PDP-I (B) IBM system/36
(C) PDP-II (D) VAX 11/780

To access a mainframe or super-computer, users often use a

(A) desktop (B) terminal (C) node (D) handheld
TIBH 3TYET U PR b ST o foTu SverdT WTT: SRR Rt &

(A) SEhe (B) zfifaet (C) e (D) BvSzes

Which of the following is not a characteristic of a computer ?

(A) Automation (B) Speed (C) Versatility (D) Intelligence
= 1 9 B it v e i fersiar 78 8 2

(A) @WEeH  (B) Tfd (C) sgfemar (D) &=

A device used to bring data into a computer is called

(A) ALU (B) Inputdevice (C) Control unit (D) Output device
€21 I B H A o foC S feamsd shaatrd &

(A) ALU (B) g fearsd (C) T=wisser (D) 3Mecye feamsa

The brain of any computer system is

(A) ALU (B) memory (C) CPU (D) Control unit
fepeft shreeret fireem o1 wfeash 2

(A) ALU (B) #ARY (C) CPU (D) T==v1 378
When was the first 8-bit microprocessor introduced ?

T 8-fere HATEehISTERR el Safea fepam T &1 2

(A) 1971 (B) 1972 (C) 1973 (D) 1974
Wireless mouse communicates through

(A) satellite (B) microwaves (C) radio waves (D) infrared wave
R HI3H fohteh GRT =R HiaT & 7

(A) 39U (B) g&Had (C) Tea-amn (D) 3o adl
Which device can sense inventory data specified in bar codes ?

(A) Joystick (B) Mouse (C) Holographs (D) Light pen
+ 91 fgarss IR @i § iy sl 31+ gusan g 2

(A) S (B) ©RH (C) B&@w® (D) @A

The monitor of a computer is connected to it by a

(A) wire (B) bus (C) line driver (D) cable
HIRIEL I T 3HE ST 8l &

(A) SRR (B) SEEA (C) TS SRR GNT (D) heied gRI



101. Which one is not an impact printer ?
(A) Dot matrix (B) Daisy wheel (C) Laser printer (D) None of these

19 91 Ush 3 Tt 981 8 2
(A) sledfmm  (B) Wi (C) Bt (D) A ®E T

102. To locate a data item for storage is

(A) Field (B) Feed (C) Database (D) Fetch
WIS o fotu fepeft Ser1 3118en =l W@d 8
(A) @i (B) wIg (C) <er=™ (D) %4

103. Who was the writer of ‘Mudrarakshasha’ ?
(A) Kautilya (B) Banbhatt (C) Kalhana (D) Vishakhdatta
“YGRIETE’ 1 TG i o1 2
(A) whifeea (B) wTUTdE (C) Hogd (D) TommaEed

104. To which dynasty did Ashoka belong ?

(A) Gupta (B) Maurya (C) Kushan (D) None of these
[ERREEHER I R .
(A) TH (B) #H (C) F (D) T I T
105. The capital of Kanishka was
(A) Pataliputra (B) Taxila (C/Mathura (D) None of these
Shiseh ol T A '

(A) Wefags  (B) & d A (C)- U (D) ¥ & % T
106. Aryabhatta belongs to/which age,”

(A) Guptas (B) " Cholas (C) Mauryas (D) Mughals
ferg.aicl A TesTad o 2
(A) TH B) = (C) =M (D) g™

107. What do the paintings of Ajanta depict ?
(A) Ramayana (B) Mahabharata (C) Jatakas (D) Panchatantra

37T <t Femreher o fafad il 8 2

(A) THMEY (B) He™WRd (C) Sirash (D) 9dEa=A
108. Arabs were defeated in 738 AD by

(A) Chalukyas (B) Palas (C) Rashtrakutas (D) Pratiharas

738 3. # 3T 0 TR gL

(A) =TI (B) It (C) gL (D) widEr
109. Who of the following was a contemporary of Changiz Khan ?

(A) Iltutmish (B) Alauddin Khalji

(C) Mohammad-bin-Tughlaqg (D) Balban

1 o © o SIS @H o HHebIC o ?

(A) Fgdm (B) LM Gt

(C) Higrmg-Ted qiere - (D) Seted



110. The saint of Varkari sect was
(A) Namadeva (B) Nimbarka (C) Chakradhara (D) Ramdasa

ITHRI TEICH h1 Gd T
(A) M (B) T (C) <TheR (D) THEH
111. The Moti Masjid in Agra was built during the reign of

(A) Humayun (B) Shahjahan (C) Aurangzeb (D) None of these
ST H At 7AEfsie fohdeh el § 9418 18 off

(A) g (B) T&STal (C) ﬁvﬁa (D) 99 | IS T8

112. The treaty of Bassein (1802) was signed with the British by Peshwa
(A) BajiRaol (B) BajiRaolIl (C) Madhav Rao (D) None of these
IS o A1 S hi |f= (1802) form dsram gra 6t s oft 7
(A) SeEI (B) SSREI (C) HAgewE (D) T4 ¥ g T8I

113. The battle of Buxar was fought in

TG 1 Jg ST T AT

(A) 1757 (B) 1761 (C) 1764 (D) 1766
114. Who was the founder of Aligarh movement ?

(A) Agha Khan (B) Syed Ahmed Khan

(C) Maulana Altaf Hussain Hali (D) None of these

TG IATEITH 1 TEATIh i o7 ?

(A) AT @H (B) & 378HE @H

(C) HITHT 3TedTh gad aretl (D) H T HI3 T&
115. The All India Kisan Sabha was formed in

ITRget v foram T <6t T g8

(A) 1932 (B) 1933 (C) 1935 (D) 1936

116. The first session of Indian National Congress was held at
(A) Calcutta (B) Bombay (C) Ahmedabad (D) Allahabad

WIS T HIH <hT TYH eI 537 ot - ' .
(A) ®ahMH  (B) s H (C) FEweEEd (D) IelEEE b
117. The Constitution of India is

(A) Flexible (B) Rigid

(C) Partly rigid, partly flexible (D) None of these
EIEBIEE

(A) e (B) @3N

(C) 3IfITeh ha T, JTIITh A= el (D) 399 ¥ g T8l

118. The constitutional status has been given to panchayats under Article

Ul Shl T Gl bl 31T oh SA=id Gl AT & 7
(A) 143 (B) 243 (C) 343 (D) 43




119.

120.

121.

122.

123.

124.

125.

126.

Among the following states, which one was formed last ?
(A) Andhra Pradesh (B) Gujarat
1(%‘1; Karnataka (D) Punjab

T 4 | Teherehl TR 370 | 58 2 .
(A) AT (B) TR (C) fesh (D) °STs
Who was the President of India at the time of proclamation of emergency in
the year 1975 ?
(A) V.V.Giri (B) Giani Zail Singh
(C) Fakhruddin Ali Ahmad (D) Shankar D%al Sharma
T 1975 T STTITAHTET ! IGETTO o THT WA i & ?
(A) <. fift (B) ISt g
(C) BEEEN et 3789 (D) SiehieaTer Il
The vice President of India is the ex-officio chairman of

(A) Lok Sabha (B) Rajya Sabha (C) NITI Aayog (D) None of these
YA o1 IT-TFITd TS ITELT BT 8
(A) ABEAIH (B) TH AT HI  (C) ifd 3= 1 (D) 3TH U g T8l

The first Law Minister of Independent India was

(A) M.C. Sitalwar (B) B.R. Ambedkar

(C) Kailashnath Katju (D) Rafi Ahmad Kidwai

T W o wom faf 7=t &

(A) TH.H. faareret (B) #fi.3TR. 3mEEa

(C) heATHIY HIET, (D) Th! 378Hg foheas

Who calls the joint session of the two houses of the Parliament ?

(A) The President of India (B) The Prime Minister of India

(C) The Vice President of India (D) The Lok Sabha speaker
THE o GHI HEAT ol TIF IATTAIH hIH ATl & ?

(A) YR %I UFHfd (B) WRd 1 YUHA
(C) YT =1 3U-TFIfd (D) s BT Tftet
Which of the following is not a constitutional organ ?
(A) Finance Commission (B) Election Commission
]&:‘12—[ Inter-State Council (D) NITI Aayog
T ¥ I | G 37 T8 8 2
(A) o= smam (B) TTE M
(C) IF-T<T Uiug (D) ifer 3T
Which of the Indian state has lowest sex ratio ?
(A) Uttar Pradesh (B) Bihar (C) Punjab (D) Haryana
U\?"JWI(’I‘IIS‘JI(‘I SELS EFE[%‘? .
(A) Wy (B) faEm (C) T (D) Efemm
Gold mines in India are located mainly at
(A) Kolar (B) Raniganj (C) Jadugoda (D) None of these
WA 7 51 1 @ . feom &

(A) HIARH (B) wﬂmﬁ (C) SgmeTd (D) 3H & IS &l



127.

128.

129.

130.

131.

132.

133.

134.

135.

Nature of unemployment in agriculture in India is

(A) seasonal (B) disguised
(©) Both A) and (B) (D) None of these
A § 1 whfa B

(A) nﬁwﬁ (B) w=oH (C) (A) 3T (B) 3Hi (D) 370 © %15 &1
Indian Pulse Research Institute is located in

(A) Kanpur  (B) Allahabad (C) Faizabad (D) Lucknow
(A) HEARH (B) s@@ERRH (C) Ha@ed (D) adETH A
The major aim of devaluation is to

(A) Encourage Exports

(B) Encourage Imports

(C) Encourage both Exports and Imports
(D) None of these

I 1 GET 39 B

(A) T % (B) 3TRITT FicHTE
(C) Trafa 3R AmITa gHi bl JicaTed (D) T O IS T8l
Which bank was earlier called the ‘Imperial Bank of India’ ?
4 o5 qd & emfifrel 3% 3% e FEe o 2

(A) RBI (B) SBI (C) PNB (D) UBI
The average distance from the sun to earth is
(A) 15 million km (B) 150 million km
(C) 1500 million km (D) None of these
& gt <h1 afterd gl 8
(A) 15 faferm o 4. (B) 150 Tufera fep. 1.
(C) 1500 Tirferem fop ot (D) T8 T &g &l
The Prime Meridian passes through
(A) Paris (B) Greenwich (C) New York (D) Delhi

o
(A) Uf@d (B) Wafmd (C) =@hd (D) feeeltd
Contour line is the imaginary line joining places of equal

(A) Elevation (B) Temperature (C) Rainfall (D) Humidity
@ g Tt T I TS ATl HTed (e W@ 7 |

(A) g (B) dTHM (C) (D) 35l
Sandstone is metamorphosed to

(A) Quartzite (B) Marble %C) Shale (D) Slate
o]~ T (AU S0 ST Blal

(A) FRIEE  (B) AREA (C) = (D) &

Which of the following is a warm ocean current ?
(A) Kuroshio (B) Peruvian (C) Labrador (D) None of these

ot 1 9 i e T T R 2 |
(A) TR (B) UEleH (C) WEER (D) =T & IS T&l



136.

137.

138.

139.

140.

141.

142.

143.

Major sources of oceanic salinity is

(A) Land (B) Wind

(C) Rivers (D) Ash from Volcanoes

TG SEUTdT ST g7 E1d 8 ‘

(A) 9 (B) 9 (C) Afeat (D) SaTeTEt & TE
Fiord originate as a result of

(A) Landslide (B) Rock formation

(C) Soll erosion (D) Glacial erosion

fopag fopueh afoTE®Y 3T 8ld & 7

(A) Y-®ged  (B) Jfmim  (C) gaIwer (D) fed e
Atmosphere gets heated up

(A) 1in the early morning (B) at mid-day
(C) after mid-day (D) in the last evening
FTATERT T Bl ST 8

(A) S H  (B) "R H (C) AEIE UvETd (D) RT3

Which of the following is not a correct example of tropical cyclone ?

(A) Tornadoes (B) Typhoons (C) Hurricanes (D) North westers
et & @ B o1 IvTeRfesrei =IshaTd 1 el ISR A4 & 2

(A) TSI (B) TEEA (C) Ehe (D) Y e

Smog is a combination of

(A) Smoke and fog (B) Water & smoke
(C) Air and water vapour (D) None of these
HIgU FerHehT TS B ?

(A) g31f 3T ym-<pigq (B) &1 3T g3t
(C) arg 3T SFef T (D) Eﬁa@éqﬁ

Coniferous forest regions are well developed in
(A) Podzol soils (B) Red soils (C) Laterite soils (D) None of these

iUl a9 8 Glrehida 2
(A) TafEgid  (B) d@Wgd  (C) <ieuse Ml H (D) 34 4 %08 A&l

Eutrophication of lakes is a consequential effect of the accumulation of

(A) vegetation (B) sewage
(C)_ nitrates & phosphates (D) siltload
ST BT GO fohieh T=2 b1 TIHOTHT a8 7

(A) aEafd (B) Hiad
(C) T3 3R HTEhe (D) TITE W

Which one of the following rivers of India does not make a delta ?
(A) Ganges (B) Godavari (C) Mahanadi (D) Tapti
WA ! T | W 1 €l 76 St 1 Ao T8 it ?

(A) T (B) e (C) wemdl (D) dTeft



144.

145.

146.

147.

148.

149.

150.

151.

152.

Gir forests are located in

(A) Rajasthan (B)
(C) Gujarat (D)
fiRaT e fRa @ 7

(A) TSTEIH (B) fafem (@)

The beach sands of Kerala are rich in

(A) Calcium (B) Radium (©)
i qe 919 399 99 &

(A) Hfcaan (B) fszm (C)

The shape of rain drop is spherical due to

(A) Viscosity (B)
(C) Elasticity (D)
$H SR T < T 3R e BT 8

(A) AT (B) BT (©)

Sikkim

Arunachal Pradesh

TSI (D) 3TEUTEA T
Thorium (D) Manganese
oifm (D) HTS
Surface tension

Gravitation

Tl

Which one of the following has highest frequency ?
(A) radio waves (B) micro waves (C) cosmicrays (D) X -rays

foret & & e gt T i A 8 2

(D) TEcaTehyTT

(A) feq-a1  (B) gegw-a@1  (C) it fohor (D) X — fopaom

Photovoltaic cells are

(A) Thermal cells (B) Solar cells  (C) Sulphur cells (D) Molar cells

B -dleeseh U &
(A) AT (B) "@erRdA  (C)

Tartaric acid is obtained from

(A) Apples (B) Citrus fruit (C)
(A) @ (B) drg-sm  (O)

oH

Grapes

I

Which of the following has maximum calorific value ?

(A) Carbohydrate (B) Protein (©)
e O 9 fopeept SHetilt O SAferehan gar & 2
(A) ®HEREEgE  (B) WRH (©)

Natural rubber is a polymer of

Fat

9491

(D) HIeR &

(D) Tomato

(D) =T

(D) Amino acid

(D) ufer Tfére

(A) Isoprene (B) Styrene (C) Vinyl acetate (D) Propene

STehicieh (o ST 95T o

(A) Ed= (B) wEtH (C) Tommsat wdiee (D) WA

Yeast, used in making bread is a

(A) Fungus (B) Bacteria (C)
sig fmfor oy e 3

(A) I (B) Sffamy (©)

Plant

qicq

(D) Seed
(D) &9



153.

154.

155.

156.

157.

158.

159.

160.

As ‘Man’ is related to the ‘House’ in the same way ‘Cow’ is related to

(A) Den (B) Shed (C) Cave (D) House

518 yepr 3re” TrEf-aa § g @ 3H TR T et 8

(A) #icH® (B) B (C) THH (D) WA

If black means white, white means red, red means yellow, yellow means blue,
blue means green, green means purple and purple means orange then what is
the colour of clean sky ?

(A) green (B) purple (C) orange (D) yellow

e et o1 Y The, The 1 31 AT, oATet T 37 diet, died st 27 e, et
&1 31 B, B HI a?iéﬂﬁr UG 3T?f:lT("ﬁ aﬁwmww%&n% ?

(A) =& (B) S (©) At (D) drem
Haripur was the capital of the princely state of

(A) Amb (B) Guler (C) Nadaun (D) Dada Siba
UYL 39 TSTEHT T hl TAYHT 201

(A) ¥ (B) TR (C) RN (DY \greT T4

Shoba Singh’s art gallery is at

(A) Andretta (B) Paonta Sahib (C) Palampu#s (D) Naggar
vt g o1 et fera @

(A) = (B) dierHmes  (C) WFME (D) TR

The first vice chancellor of the Himachal Pradesh bniversity was

(A) Prof. R.M. Sharma (B) DroB.S. Jogi

C) Dr. G.C. Gupta (D) Dr. R.K. Singh
ve1 fervafaarer % gom St 8

(A) 9I. 3TR.UA, I (BY . st.ug. sift

(C) e .=t e (D) sf. 3. fg

Minjar festival is celebratedrin which district of H.P. ?
A) Bilaspur (B) ".Ghamba (C) Kinnaur (D) Una

eI o fhg g HfEEl SR T T ST g 2
(A) Teaemag (B) == (C) TopaX (D) ST
The atthor/of *KuluttDesh Ki Kahani’ is
(A) Lal Chand Prarthi (B) Rahul Sankrityayan
(C) V.S. Agarwal (D) Molu Ram Thakur
“Fed ¢ Tl HEMI’ o TGS @
(A) Tera—< gl (B) UgH HIhcATEH
(C) t.ud. e (D) HicHH 3T

Which of the following has been recognized by UNESCO as India’s
Intangible Cultural Heritage of Humanity in 2017 ?

(A) Kumbh Mela(B) Mudiyettu (C) Sankirtana (D) None of these
71 9 & fod %! g0 2017 | WA <hl AT 3hi 3T ATR3hIaeh GET o €9 §
AT S 2 2 | . |
(A) FWFM  (B) Hfedg (€) &HdT (D) FTHEBE T



161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Who has been named person of the year 2017 by the Time Magazine ?
(A) The Whistle blowers (B) The Protesters

(C) The Dreamers (D) The Silence Breakers

TTEH TSI G fohdl T8 317 & $38 2017 ATiHa fofe T 2 2

(A) =EHd sABR (B) Wi (C) g (D) ETEAH it
The B.R. Ambedkar International Centre has recently launched in which city ?

(A) Pune (B) Indore (C) New Delhi (D) Lucknow
1. 3R, TSR eI X BT gl | fohd STt 1 TTfUq foham TR 8 2

(A) T (B) 3=R (C) et (D) @S
Gurdeep Singh is associated with which sports ?

(A) Boxing (B) Table Tennis (C) Chess (D) Weightlifting
g fii o e B AR 3 0

(A) TeaTSt (B) Cmam (C) wa (D) I

Which state has become the India’s first state to endorse centre’s triple talaq
draft bill ?

(A) Uttar Pradesh (B) Madhya Pradesh
(C) Gujarat (D) Haryana
HIF T T g o i deiTeh ST9e freiTes ohl T & aTell YRd oh1 Ugetl TS &1 2

(A) IWYSW  (B) #&A¥eW  (C) ToW@ (D) wfmm

Meaning of the idiom ‘To get one’s back up’ is

(A) to become irritated (B) to sit straight

(C) to act proud (D) to give support

Antonyms of the word ‘Gallantry’ is

(A) brave (B) cowardice (C) sharp (D) hard

I insisted on away.

(A) himtogo (B) his going (C) him go (D) go

T HR?

(A) &= (B) (C) = (D) ST @ IS 7l
“GTE Sl SHIF T THE & 2

(A) wgsfie  (B) degew ©) 3 (D) et W
RIFRICA

(A) iR (B) hafrEf (C) wferrht (D) et
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2 D 36 A 70 & 104 B 138 B
3 A 37 C 71 D 105 D 139 D
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5 D 39 B 73 D 107 C 141 A
6 C 40 C 74 A 108 D 142 C
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8 C 42 D 76 B 110 A 14 C
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10 A A A 78 C 112 B 146 B
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